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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226624041 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding Father and the field

i.  Father of Telugu Modern Literature a. Shaik Nazar

ii. Father of Harikatha b. Annamacharyulu
iii. Father of Burrakatha ¢. Kandukurt Veeresalingam
iv. Father of Telugu Lyrical Poetry d. Adibhatla Narayanadasu
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Question Number : 2 Question Id : 39226624042 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding Presidents of India and their
specialty

i.  First President who was elected a. Zakir Hussain
unanimously
ii. First President who won b. Neelam Sanjeeva Reddy

with the highest majority

iii. First President who died during c. V. V. Giri
his tenure

iv. First President who was elected d. K. R. Narayanan
as an independent candidate
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Question Number : 3 Question Id : 39226624043 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the mismatched pair regarding Educational iitiatives

L. Malaviya Mission Scheme - Issues related to teacher trainings.
curriculum. assessment efc.
Z; Vidyanjali - Voluntary service to provide

academic support in
educational institutes

fad

Connecting higher educational
institutions with society and
villages

4. SAKSHAM - Special scholarship scheme for
students of Northeast States

DTS IS0 HoWOR0D DI FED HP0U0k.

Unnat Bharat Abhiyan

1 Sreoddi 1ouS ?:nb_o - GFETEEEne 8K, KOO0, Harerjors

|74
[ -}
ARaisre % Ho00H00056
>, degozd - S.Jcsnsmzzaesﬁ ATEHERT B0
= o s O s | 2 R
©=0003 :{’5&1)0&:3 P Tﬁ§ %350
3. &N)E U odErS - &Y ITFHOROM BT, (TEre
9550000750 DoED

4. Fxo - B3TT) T ITFROH (9B
i‘l’areagiﬁm qﬁJ DEEo.
Options :
1. %1
2.% 2
3.%3

4.9 4



Question Number : 4 Question Id : 39226624044 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
The water falls on the river Sharavathi
1 Dudhsagar Falls
2 Kunchikal Falls
Duduma Falls
4, Jog Falls
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Question Number : 5 Question Id : 39226624045 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct matched pair with respect to awards and their
recipients

i, Dronacharya a. Duvuri Nageswara Reddy
ii. Jnanapith b. Vinod Kumar Sukla

iii.  Bharat Ratna c. Deepali Despande

iv.  Padmavibhushan d. M.S. Swaminathan
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Question Number : 6 Question Id : 39226624046 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Choose correct matched pair

1. Football a
ii. Hockey b.
111. Badminton C
v. Cricket d.
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Question Number : 7 Question Id : 39226624047 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding Year and Nobel Peace Prize
winner

1. 2021 - Narges Mohammadi. Iranian Women

2. 2023 - Ales Bialiatski. Belarus

3. 2024 - Nihon Hidankyo. Japanese Organization
4. 2022 - Maria Ressa, Phillippines.
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Question Number : 8 Question Id : 39226624048 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding book and author

. Freedom in Exile a.
ii. The Race of My Life b.
111.

God of Small Things e

Dalai Lama
Arundhati Rai
Milka Singh
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Question Number : 9 Question Id : 39226624049 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The American scientist who named ‘Popcorn Brain® for over
motivation of brain because of over usage of digital devices is

). David. M. Levy

7.3 David Buckhom

Samuel Son

4, Rudolf globe
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Question Number : 10 Question Id : 39226624050 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The young Indian Chess player who defeat American chess
grand master Raset Ziatdinov
1. Dommaraju Gukesh
2. Aswath Koushik
3. Pragnananda

4, Aarit Kapil
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Question Number : 11 Question Id : 39226624051 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding song - writer

1. Jaya Jaya Priya Bharatha Janayitri - Gurajada
2. Thalli Bharati Vandhanam - Chilakamarthi
3 Chandamama rave - Ammamayya
4. Bharatha Khandambu

Chakkani padi Aavu - Dasarathi
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Question Number : 12 Question Id : 39226624052 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Another name of Evian influenza H5 N1

I Swine flu
2. Mad Cow disease
3. Bird flu

4. Encephalitis
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Question Number : 13 Question Id : 39226624053 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

World Economic Forum was started mitially with this name

2 World Financial Forum

i

World Economic Union

fad

European Management Forum

T

: European Support System
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Question Number : 14 Question Id : 39226624054 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct pair regarding important days

1. Louis Braille Day - January - 4
2, World Book and Copyright Day - April - 7
3. World Consumer Rights day - April - 23

4. World Health Day - March - 15
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Question Number : 15 Question Id : 39226624055 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement/s from the following.

a. The director of film Laapataa Ladies which got 10
awards 1n the Indian International Film Festival (IIFFA)
1s Nanditadas.

b. Emma Stone won Oscar Award — 2024 for the film
Poor Things.

a - correct

b - correct

J  —

a. b - correct

b

4, a. b — incorrect
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Question Number : 16 Question Id : 39226624056 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The book written by famous cancer specialist
Nori Dattatreyudu is

1. Glimpses of America
2. Two Nations

Mantada to Manhattan

[ ]

4. Let’s Talk about Cancer
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Question Number : 17 Question Id : 39226624057 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to NEP 2020. children between 11-14 years
belongs to this stage

1. Foundational stage

2. Middle stage
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Preparatory stage

4. Secondary stage
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Question Number : 18 Question Id : 39226624058 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

As per RTE — 2009, number of teacher to be appointed in a
primary school, if the strength of the school 1s 160

1. 5 teachers + 1 Headmaster
2, 6 teachers + 1 Headmaster
: 4 teachers + 1 Headmaster
4, 3 teachers + 1 Headmaster
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Question Number : 19 Question Id : 39226624059 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“The objective of English education is to prepare a new
section of people with Indian blood. English intellect,” said by

L.
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“5%08° rEHSLB, oS SoRGWS &od ¢ SorD
= 'l ) ey )

r

S5 DesEo 3ol ey ©EF0” O B)IB.

L.
2.
3.
4.

Options :

1. %1
2. %2
3.¢3
4. % 4

[ ]
05 &&
[}
Sr508S
o2
8 oo
o

o0&



Question Number : 20 Question Id : 39226624060 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This Educationalism advocates that child development should
be based on the needs of society

L. Pragmatism
2. Naturalism
3, Idealism

4, Realism
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Question Number : 21 Question Id : 39226624061 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This section of RTE — 2009, prohibits deployment of Teacher
for non-educational purpose

RTE —2009 (&9 d8)os orgiriy),. 580 -2009)S° B2 ES
&P TIs0ON SPEIBE Dok &S BrROSER) D adodod.

1. 23
2. 27
3. 28
4, 29

Options :

1. % 1

2.9 2

3.% 3

4. % 4



Question Number : 22 Question Id : 39226624062 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding books and authors

1, Social Contract a Kant

ii. Critique of Pure Reason  b. John Dewey
iii.  School of Tomorrow C. Rousseau

iv.  Sociology and Education d. R. J. Stalcup
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Question Number : 23 Question Id : 39226624063 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“Values are which distinguish between good and evil™ said by
1. John Dewey
2 Rand

Charles Mortis

4. M.T. Ramjee
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Question Number : 24 Question Id : 39226624064 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The ‘Navodaya Vidyalaya Scheme’ was launched during this
five year plan period
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Question Number : 25 Question Id : 39226624065 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct match regarding ‘IQ classified groups with
their IQ values’ (Terman - Merrill division of intelligence)

i Average mtelligent

ii. Dull

iii.  Superior intelligent

1v. Gifted

a.
b.
£
d.

150
110
100
70
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Question Number : 26 Question Id : 39226624066 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Transfer of learning that takes place when a person who
learned Tennikoit is playing Shuttle

1. Negative Transfer
2. Zero Transfer

3. Bilateral Transfer
4, Positive Transfer
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Question Number : 27 Question Id : 39226624067 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The present situation that represents a particular skill or ability
of a person in his/her future 1s called

1. Attitude
2! Aptitude

Achievement Motivation

Y]

4. Interest
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Question Number : 28 Question Id : 39226624068 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The learning in which there is a scope for thinking, reasoning
and problem solving

E Classical conditioning
2, Trial and Error learning

Insightful learning

LS

4, Operant conditioning
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Question Number : 29 Question Id : 39226624069 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student takes 10 trials to learn a poem for the 1*' time. After
one month it takes 2 trials to relearn the same poem to recite
without mistakes. Saving score 1s here 1s
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Question Number : 30 Question Id : 39226624070 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement/s among the following

A. Total number of questions in MMPI are 550.

B GATB has 11 test items
i, A correct, B correct

2 A incorrect. B correct
3. A correct. B incorrect
4, A incorrect. B incorrect
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Question Number : 31 Question Id : 39226624071 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Defense mechanism

Protects human ego by adjusting immediately

S.
R. Protects personality from disputes by reducing anxiety
1 ‘S’ only true. ‘R’ not true

2

‘S’. ‘R’ both are true but not related each other

fad

‘S’ not true. ‘R’ only true
4. ‘S’. ‘R both are true and both are related to each other
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Question Number : 32 Question Id : 39226624072 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Unfolding of innate abilities of a person in accordance with
age 1s called

1. Development
2. Maturity

Growth

LS ]

4. Aptitude
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Question Number : 33 Question Id : 39226624073 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A girl has an understanding about her interests and abilities.
Keeping this in view. she has chosen fashion designing as her
career. This shows her

1. Intrapersonal Intelligence
2 Logical Mathematical Intelligence

Inter personal Intelligence

[N

4. Spatial Intelligence

Bt @;irﬂ&w% €55 @Nen HiA @";‘b%m 1B0DS
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3. BB SESs g
4. |03 (B
=
Options :
1.¥1
2.% 2
3.% 3

4, % 4



Question Number : 34 Question Id : 39226624074 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

In the process of learning. a temporary stage where the child
doesn’t show improvement in his studies is

1. Stage of fluctuation

2, Plateau stage

3. Initial Spurt

4. Physiological limit

B2IGOT (DS, DT ST WGPS0S” WHHY
Sra0u) o) O &%

1 w:&'“oiiiené 't}
2. 5850 &%
3. (o vm0
4. ?662‘&55& e
Options :
1. % 1
2.9 2
3.% 3

4.% 4



Question Number : 35 Question Id : 39226624075 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A boy is writing 10™ class examinations. He wanted to copy
an answer from his friend. But his conscience warned him that
it 1s wrong. Finally he didn’t copy. This act is directed by

1. Id
2. Super Ego

LS ]

Ego
4. Thought
2.5 oo 105 SSAD D050 TPROTTIE. B8 S

[y —
'foa)ﬁjbeﬁ:;ﬁ} o0& 2 DI =5 SOOI =0 @
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f b eﬁ)iﬁ_an
2. Edgﬁ“ﬂ
3. a0
4, 353
Options :
1. % 1
2.2
3. %3

4. % 4



Question Number : 36 Question Id : 39226624076 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A child who has the experience of seeing a dog has called a cat
as a dog. The cognitive process used by the child here is

1. Assimilation
2 Accommodation
3 Equilibration
4. Organization
E::EE]_REJ S e9502950 &F@ ?.:ag;:r“d:: Ea@_}ﬁ) 00 PR e
DY), @ 2T, & 20T &IDTA0DS DOLT L) 8
[ =
1. FodxEer0
2 @aﬁaf‘bm§0
3 ﬁ;‘.i:m‘_é:méeb
4 ;55;3235693
[4-+]
Options :
1.v 1
2. % 2
3% 3

4.% 4



Question Number : 37 Question Id : 39226624077 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The defense mechanism in which a person channelize his
unacceptable impulses or emotions into socially acceptable
activities.

L. Displacement
2. Sublimation

Projection

[N ]

4. Identification
2,¥ 255_3“ @3?(503:“?{5:: 5 (WoRnos S aﬁﬁsﬁsme&m
PRS0 SBrEENRS (3abe 33 To|d80isio

1. DRIO

—

2. &odsseo

urﬁ-.f
3. ERIxle
4, ottt L0
Options :
1. % 1
2.9 2
3.% 3

4. % 4



Question Number : 38 Question Id : 39226624078 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A girl 1s doing homework in order to get the appreciation from
her teacher. She is at this stage of Kohlberg’s moral

development
1. Obedience and Punishment orientation
2. Good boy and Good girl orientation

Naire Hedonistic and Instrumental Orientation

fad

4. Authority and Social order maintaining orientation

8358 5Ky oRp FPoTrO® éﬁ%SDé’E, 2% e )on FOEID
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4. RSO - FErRY (EH KT & A8

Options :
1. %1
2.9 2
3.% 3
4. % 4



Question Number : 39 Question Id : 39226624079 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The personality test in which location. content and determinants
are taken into consideration in assessment of personality

L.

fid

4

Thematic Apperception Test
Rorschach Inkblot Test
Children Apperception Test

Psycho Drama

3 507 oM $07YER) o F5Hd2 S50,
— [ — Q
DAE00, AT A O $OK5S D2 BtuHoerss

1.

oW

Options :

1% 1
2.¢ 2
3. %3
4.% 4

3BH)E (s HO0K
&°arE dormte $0X

2o TR HoX



Question Number : 40 Question Id : 39226624080 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Emotional Catharsis’ 1s the unique aspect observed in the
emotional development of this stage

1. Adolescent stage
2. Infancy
3. Pre childhood

4. Late childhood

‘&E:ESP{ E@aﬁ‘ B3 336 aa‘:sm_,mmess X950

1. Eiptlefal:]

2 FE50F
= -
3. ;’a_)'“c‘.‘gs EFE:§¢5 ¥
4. 1] z:rﬂe_agcti%'
Options :
1. % 1
2.% 2
3.%3
4.9 4
Section 4
Section Id : 392266789
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266919
Question Shuffling Allowed : Yes
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Question Number : 41 Question Id : 39226624081 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

i e ¥ o |1 L i e

a0 DTV @‘Se:éggggm

1. ShrEnd DaHadsd

2. JR00nS @oNsnes Eod
3. BS® HOBOOLHHO
4. R0’ H0UB0LISO
Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 42 Question Id : 39226624082 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘@152{0’ Horod E:JEJ@ BEo

1 evstife!
2. T°NO
3. o dale)
4. Crpfatle

Options :

1. % 1

2.9 2

3.% 3

4. % 4



Question Number : 43 Question Id : 39226624083 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
308 JEFFEOD BPS (K008 @8)0s.
—— R e m 3wy Wl N
e, DBSs og)c‘.bi“g é% Qﬂmgmg
es, QBT Saresn 335553
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1. 53, &3, ©, 3

2. e, 83, ©, 3
3. e, @, B3, g
4. e, &3, 83, g

Options :

1. %1

2.% 2

3.¥3

4, % 4

Question Number : 44 Question Id : 39226624084 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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2. RS 39

3. %058S

4. v)devble)

Options :
1. % 1
2. %2
3.3
4. % 4



Question Number : 45 Question Id : 39226624085 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
BFS0 WO BLRTNOKH KDESSeD ITOVSOTHTHY’
2 A0e(@a30055 H020000wW50 DE0
1. DPEK) 0
2. é.:ﬁ::bﬁﬁ:b_w
3. DS

4. TEOIHH

Options :
1.% 1
2.9 2
3.%3
4. % 4

Question Number : 46 Question Id : 39226624086 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘©9X086¢8:50" Dorwd @gm

1. esr80
2, 35@355
3. r:firlﬁéo
4, S0
@
Options :
1. % 1
2. % 2
3.% 3

4.¥ 4



Question Number : 47 Question Id : 39226624087 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. % )
3.¢3

4. % 4



Question Number : 48 Question Id : 39226624088 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

208 TIS° Hoz°0.
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oW

Options :
1. % 1
2. %2
3.% 3
4.9 4
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Question Number : 49 Question Id : 39226624089 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“FPS00&) T°R I Dooen
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2. 3:‘:35 D0
3. G000 D TP TR0
4. i) eTP;Cre®
Options :
1. % 1
2.% 2
3.4 3
4. % 4

Question Number : 50 Question Id : 39226624090 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
B2 PVEO BI0 @900 Y IE20D0S ey xEygtet
1. T°23g0 - S Pale]
2 4
2 oﬁmgo - 08
3. O 30RED &F & B8 B 5w
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Options :
1. % 1
2. % 2
3.¢¥3
4. % 4



Question Number : 51 Question Id : 39226624091 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

& DESD SETTOXS Book), VDAY oS0 S0,
83 TEOS'D swosEo.

L ERaIe0S S50
2, &@E@DE‘E‘.‘J’D
3. 0PITr3 ©005°80

4. S0 S 0580
Options :
1. % 1
2.2
3.% 3
4, % 4

Question Number : 52 Question Id : 39226624092 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

RN ST
1. e, KK

2. 3%, 3008

3. H0ED, (HEBoe3s0
4. K, e

Options :
1. %1
2.9 2
3.% 3
4. % 4



Question Number : 53 Question Id : 39226624093 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

SR BT IS D020H0od HOGET)

©. 3088 &Y S |TTTEO &okos.
es, 38 ;:35&3555930. PRrTHEC0 @ TOL JFTe
3. DOz &0 Do SR BRTH0
B3 TRETes &30 S S8R B0
1. 3, 5=
2 o, S
3 e3, j
4 @, es
Options :
1% 1
2. % 2
3. % 3
4.9 4

Question Number : 54 Question Id : 39226624094 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
S0 Sewi IS0
1. mgm%ﬁl BTG TR0
2 Fbmﬁﬁzaciﬁr&iﬁ;gﬁ) K0GoErD a0
3. Pe00zAN Soabs) 050
4 leletofolatd e;acgoé TR0
Options :
1. %1
2. %2

3.4 3
4.% 4



Question Number : 55 Question Id : 39226624095 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
&39:5&5‘&5, &551‘555 508 DG 55513‘55 Sraren oCdLReRED
Ba 3)5“5@;‘5:%30
1. ﬁq}zame:é’ &Ee‘.ﬁ
2. (H¥od
3. (AU
4, &3P0

Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 56 Question Id : 39226624096 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

" oy o o 3 o m v

PESEBHF0S” esBT o No@ 8o

1. TS a0 Eﬂje:é‘ﬂ§d535

>, doae cfﬁééiom
3. E?aﬁ)@tfoéi t:s“‘;w;i::iiaﬁ
4. AP0 D‘“Ta:bé‘é'?ﬁ_
Options :
1. % 1
2. % 2
3.9 3
4, % 4
Sub-Section Number : 2
Sub-Section Id : 392266920

Question Shuffling Allowed : Yes



Question Number : 57 Question Id : 39226624097 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

BOKITCIS FOODS TEITTCSIen B2 o TRST FoTen

S000T°%o.
1. réomwe:éo
2. @ﬂﬁgéﬁo
3 20
4 0
Options :
1. % 1
2.9
3. % 3
4. % 4

Question Number : 58 Question Id : 39226624098 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

>o0¥ ROLYYO TH)EO' B2 OFIR2E $0200DT ﬁggﬁﬁm
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Options :
1.v 1
2. %2
3.% 3

4. % 4



Question Number : 59 Question Id : 39226624099 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

SESUS, SEE(3Ke B SUNHEe D08 (FDTDLIW).

1 23
2 4, 5
3. 7,8
4, 1.2

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 60 Question Id : 39226624100 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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=
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Options :
1.¥ 1
2.% 2
3.%3
4. % 4



Question Number : 61 Question Id : 39226624101 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
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4.9 4
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Question Number : 62 Question Id : 39226624102 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.% 2
3.% 3
4. 4
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Question Number : 63 Question Id : 39226624103 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
AgHEY FHOTO)S Hirges, &EQTON JBI0TB.
{ 3@5 (ReTRE
2 0L (DeTE
o
3. DA (DETRE
4. S (Perdy

Options :
1.v 1
2.% 2
3.% 3
4. % 4

Question Number : 64 Question Id : 39226624104 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1

2.% 2
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Section 5

Section Id : 392266790
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24

Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266921
Question Shuffling Allowed : Yes

Question Number : 65 Question Id : 39226624105 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct declarative form of the exclamatory
sentence : What a beautiful sunset!

1. How beautiful sunset!

2. The sunset is very beautiful.

The sunset. what a beautiful one!

LS ]

4. What a beautiful sunset?

Options :
1.% 1
2.9 2
3.% 3
4. % 4



Question Number : 66 Question Id : 39226624106 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
She sings in the choir.
Choose the negative question form of the sentence above
L Does she not sing in the choir?
2 Do she not sing 1n the choir?
3. Does she not sings in the choir?

4, Did she not sings in the choir?

Options :
1.v 1
2. % 2
3. % 3
4. % 4

Question Number : 67 Question Id : 39226624107 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the adjective of positive degree from the following

1. Simpler
2. dreamer
3. braver
4. mnner

Options :

1. % 1

2.4

3. % 3

4.% 4



Question Number : 68 Question Id : 39226624108 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The two sisters loved each other.

In the above sentence, ‘each other” is :
E: an indefinite pronoun

2. an independent pronoun

3. a demonstrative pronoun

4. a reciprocal pronoun

Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 69 Question Id : 39226624109 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Nobody (come) to see us since we bought these
bloodhounds.

Choose the option that fits the blank.

i have come
7 has not come
3. has come
4. has been coming
Options :
1. % 1
2. % )
3.¢3

4, % 4



Question Number : 70 Question Id : 39226624110 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A : Have you seen that play?

B Yes, 1

Choose the option that fits the blank.
1. does

2 have

had seen

L |

4. AW

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 71 Question Id : 39226624111 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The government announced plans to clamp down illegal
fishing the protected marine areas.

Choose the correct option that fits the blanks.

1. on. 1
2. with. i
3. for, on
4. against, within
Options :
1.¥ 1
2. % )
3% 3

4, % 4



Question Number : 72 Question Id : 39226624112 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Despite the differences. they managed to get along each
other family reunion.

Choose the set of prepositions that fit the respective blanks.

1. with. in
2. t0. on
% for. during
4. with. at
Options :
1. % 1
2. % )
3. % 3
4. 4

Question Number : 73 Question Id : 39226624113 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the disyllabic word from the following.

i coffee
2. dangerous
3. tin
4, doubt
Options :
1.v 1
2. % 2
3. %3

4.% 4



Question Number : 74 Question Id : 39226624114 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the word without stress.
1. detective
2. national
3. autobiography
4, fo
Options :
1% 1
2.% 2
3. %3
4.9 4

Question Number : 75 Question Id : 39226624115 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He got and was taken to

Choose the option that fits the respective blanks.
1. a bronchitis. a hospital

2. the bronchitis, the hospital

[N

bronchitis. hospital

4. a bronchitis. the hospital

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 76 Question Id : 39226624116 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

______no longer need

Choose the option that fits the respective blanks.
i The dead. help

2. A dead. the help

3. Dead. help

4. The dead. the help

Options :
1.¥ 1
2. %2
3.% 3
4. % 4

Question Number : 77 Question Id : 39226624117 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“The Last Bargain™ 1s a poem written by a famous and
renowned poet
1. Rabindranath Tagore
2. T.S. Eliot
3. William Wordsworth

4. Robert Frost

Options :
1.v1
2. %2
3.% 3
4. % 4



Question Number : 78 Question Id : 39226624118 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Iswaran the Story Teller” is a short story by:

L.

1o

4

4.

Options :

1. %1
2. % 2
3.¥3
4. % 4

Subramania Bharati
A K. Ramanujan
R.K. Laxman
Ruskin Bond

Question Number : 79 Question Id : 39226624119 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct definition of an editorial :

1.

[ ]

Options :
1. % 1
2.92
3. % 3
4. % 4

a Ieport on recent events

a piece of writing that presents the opinion of the editor
on a current 1Ssue.

an interview with a prominent figure

a fictional story



Question Number : 80 Question Id : 39226624120 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
One of the essential traits to be followed in writing a precis 1s :
1. including personal interpretations

2. using the same wording as the original text

[ ]

incorporating crucial information from the original text

4, expanding on minor detail rather than focusing on the
main ideas

Options :

1. % 1

2. %2

3.¢¥3

4. % 4

Sub-Section Number : 2

Sub-Section Id : 392266922
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 39226624121 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Punctuation marks help convey

Choose the correct option that completes the sentence above.

1. proper meaning and prevent misunderstanding
2. the importance of direct speech
3 proper meanings of phrasal verbs
4. proper sentence structure
Options :
1.¥ 1
2. % 2
3.% 3

4.% 4



Question Number : 82 Question Id : 39226624122 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the type of teaching - learning material that includes
aids like blackboards. charts. and flash cards

1. Audio aids
2. Visual aids
3. Aundio-musical aids

4, Tactile aids

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 83 Question Id : 39226624123 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In teaching . developing aesthetic sense in the
students 1s primary objective
1. prose
2. poetry
3. gramimar
4. sentence structure
Options :
1% ]
2.¥2
3.% 3

4. % 4



Question Number : 84 Question Id : 39226624124 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the accurate statement about peer evaluation
1. Meant for criticism. Fault-finding

2. Offers improvement suggestions

% Primarily assigns grades

4. Involves peer competition

Options :
1. % 1
2.92
3. % 3
4. % 4

Question Number : 85 Question Id : 39226624125 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the most widely used 2-D learning material from the
following

1. Chalkboard
2. Radio

3. Tape recorder
4. Computer

Options :
1.¥1
2.% 2
3.% 3
4. % 4



Question Number : 86 Question Id : 39226624126 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The aim of learning is to connect the learner with :
1. School games
9. the world
3. the family and relatives
4. books written by famous authors
Options :
1% 1
2.¥2

3. %3
4.% 4

Question Number : 87 Question Id : 39226624127 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Grammar Translation Method gives importance to :

L. length of sentences
2 accuracy
3. oral practice
4. use target language without grammar
Options :
1% 1
2.¥2
3.% 3

4. % 4



Question Number : 88 Question Id : 39226624128 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Pre-production” 1s also known as :

1. the non-cooperative period

2. the action period

3 the silent period

4. the active period
Options :
1. %1
2.% 2
3.3
4. % 4

Section 6

Section Id : 392266791
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266923
Question Shuffling Allowed : Yes



Question Number : 89 Question Id : 39226624129 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If 9A is a two digit prime number then A + 1 =

9 A o938 2.5 DOKOSO (PF°S oS wond A+ 1=

1. 3
2. 5
3. 7
4. 8

Options :

1. % 1

2. % )

3.% 3

4.9 4



Question Number : 90 Question Id : 39226624130 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The maximum capacity of a container that can measure water
of the three containers. of capacity 481, 518, 555 litres in exact
number of times (1n liters) 1s

481, 518, 555 O&Y Y0 oS3 ErgoEES™D B
PATRS JiSod” Fosie 50836 IS By, K03
50850 HoyS®

o]

1. 29
2 31
3 33
4 37

Options :

1. %1

2. %2

3.% 3

4.9 4



Question Number : 91 Question Id : 39226624131 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the cost of dozen soaps 1s ¥ 153.60 then cost of 17 such
soaps 1s

e INe ﬁemzje; 2550 T 153.60 00 etnsodd 17 ﬁmzje; P8O

L. T 2176
2. T 227.6
% X 221.6
4, T 214.6

Options :

1.¥ 1

2. %2

3.% 3

4. % 4

Question Number : 92 Question Id : 39226624132 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A shop keeper buys 80 articles for ¥ 2400 and sells them for a
profit of 18%. Selling price of one article 1s

2.8 oseearrdng 80 Sdopeoss 24005 570 18% orardd

Bz . 257 5 S0 @a)S30

1. g 3.2
. T 36
3 T 354
4. < 34

Options :

1. %1

2. %2

3.¢¥3

4.% 4



Question Number : 93 Question Id : 39226624133 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the exterior angle of a triangle is 110° and its interior
opposite angles are “x°” and (x + 10)°. Find the value of ‘x’

2% |DeHewods’ z}'ﬂ‘&:ﬁ;ﬁeﬁo 110° 58050 eodsord) oy Sfemren

x% (x+10)° ®ons ‘x° Jdend

| 110°
5.8 100°
3. 70°
4. 50°

Options :

1. %1

2. %2

3.% 3

4.9 4



Question Number : 94 Question Id : 39226624134 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement.

1. A triangle can have two right angles.

2 Minimun number of acute angles of a triangle is 2.

3. A triangle can have all the three angles greater than 60°.
4. Maximum number of obtuse angles of a triangle is 2.

D&y (RHBTY) HB0B0s

L 2% (@20z0 Dok 005 ero SOA &oEswD).

2. 25 (@Hz08" 500 2 e0)Stres &0,

3. 2% @m0 3 Seren 60° 508 )BT S0KS))
4. 2.5 |@2m0S” KORomr 2 eRiE ey &0k

Options :
1. % 1
2.9 2
3.% 3
4. % 4



Question Number : 95 Question Id : 39226624135 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the quadrilaterals with number of independent measures
needed to construct them

A, Rhombus L 3
B. Parallelogram II. 4
£ Trapezium . 2

S tzErem I8t oNNERS KEog Fede BoPpD
LI Fete STREIEY

A. ‘ééﬁaiﬂeﬁzdﬁzﬂo L.

B. Doy ﬁiﬁ)ﬁ)ﬁ)ﬁ@ II. 4
§ Do 5@35@@0 or. 2
L. A=l B—UL. C=1

2. Al B—1l, €-M

A=, B-=IL C-=II
4. A—~dl; B-IL C-1

LS ]

Options :
1. %1
2. % 2
3.¥3
4. % 4



Question Number : 96 Question Id : 39226624136 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If ABCD is a parallelogram, then A4BC is congruent to

ABCD %5088 Séotymind” A4BC|308 T8S° B3

L L

K}c‘.‘is PSS LR Y
1. A4CD
2. ACDA
A AADB
4. ADCB

Options :
1. % 1
2.92
3.% 3
4. % 4

Question Number : 97 Question Id : 39226624137 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Two diagonals of a thombus are (2x+4) and (x+4). then the
area of the rhombus 1s
2.% Cro2n Boo¥), Do Sgren Qx+4) 500850 (x+4)

@O0 OPoLH 2TO50

i 2v +12x+16
9, 2v2 +12x =16
3, v =6x—8
4, v +6x+8
Options :
1. ¥ 1
2. % 9D
3.% 3

4.9 4



Question Number : 98 Question Id : 39226624138 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

(_2 :!J‘J!—-'-I-

=21

. then the value of ‘w15

= (=2

G ] 23 % _-,.'-J‘Jl"l'-i-
) 2 = (-2)° @0 ‘m’ Jews

(_-}}J‘J‘!—-i
-3
1. —
2
. 7
i =
2
. -3
4 b —
2
9
4. =
2
Options :
1.¥ 1
2.% 2
3.%3

4, % 4



Question Number : 99 Question Id : 39226624139 Question Type
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

2 g
W a5
If x+y=28 and xy =12, then value of ———
(x=—y)°
. - .Tl-l- 1'3 o~
x+‘1~:8;&35{1113 "{"[:12 &S‘OJJE!S S gJE}JuJ
(x—y)°
7
1. R
3
3
5. —
4
" 5
3. ol
2
7
4, =
4
Options :
1. % 1
2.% 2
3.3

4. % 4

: MCQ Option Shuffling : No



Question Number : 100 Question Id : 39226624140 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

2x+1 x=2 i
If +3= _then x value 1s
2x+1 i—=2 .
+3= @oNT ¥ e
4 5
67
1. pu
6
" ~73
pri. —
” 49
3.
3
-53
4.
6
Options :
1. %1
2.9
3. % 3

4, % 4



Question Number : 101 Question Id : 39226624141 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Median of first 10 multiples of 6 1s
6 Bo¥) I0ES 10 ez m&sh@m

I. 30
2 13
3 36
4. 38

Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 102 Question Id : 39226624142 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
12405 g in Kilograms

12405 |rsoen 8" (raned”

1. 124.05
2. 12.405
3 1.2405
4 0.12405

Options :

1.% 1

2.9 2

3.% 3

4.% 4



Question Number : 103 Question Id : 39226624143 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In a parallelogram ABCD. AB = 24cm. BC = 10cm and the
height corresponding to the base CD is 6 cm. then the height
corresponding to the base AD in centimeters

BEr0ess ﬁé&:t‘.ﬁam} ABCD &° AB = 24 20.5., BC =10 Do.5.
$08c0 57 CD & e08rS &) 6 0.20. @anS b AD &
9o 08770 ;Je‘_%’_:;p 250.2.08°

2 14 .4
2. 17.54
5, 20
4. 40
Options :
1.v1
2.% 2
3.% 3

4.% 4



Question Number : 104 Question Id : 39226624144 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The total surface area of a cube is 1296 cm’ then its lateral
surface area in cm’

2
t{' LT e _— F LT g n b -, L
2.5 Podan DY), @o@g@@ 2TO50 1296 0.2 902

TP L‘_;’:aﬁbe:éra} E@“@SD Sio. .08

1. 434
7. 14446
5 364
4. 784
Options :
1. %1
2. % 2
3.9 3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 392266924

Question Shuffling Allowed : Yes



Question Number : 105 Question Id : 39226624145 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mathematics 1s the way in which human mind stabilizes in
rationalism 1s defined by

1. Benjamin Pierce
2 Aristotle

3 Lock

4. Bacon

ETE0S” SrSP Do) QST STYD Keddo
@ AKDODTTE

1 BomdS 2SSy

2. BI85

;8 e

4. )

Options :
1. %1

2. %2
3.¢3
4. % 4



Question Number : 106 Question Id : 39226624146 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding books and authors

1. Pancha Siddantika

ii. Brahmasputa Siddanta

iii. Aryabhattiyam

iv. Siddantha Siromani

a.
b.

= 0

Bhaskara Charya — II
Varahamihira
Brahmagupta
Aryabhatta

HO&FE0 - S 0000 IS =aren 80Uk,

1. “B65 Ea%ﬂoe‘iaﬁ

1. @Jﬁ"@mg@ 3:%“0@:60

ifi. a0

iv. ?.:r%“oé% 3585563

)

4.
Options :
1. %1
2.9 2
3.%3
4. % 4

Bt
i-b
i€

g,

11 - C.
<¢.
I

N4

i1 - b,
i1 - d.
il - a,

iii - d,

a.
b.
g

d.

iv-d
1v-a
iv-d

iw-b

aﬁ‘ﬁbwﬁﬂtﬁjéda— I
SO
(@ 1o

@55225%%



Question Number : 107 Question Id : 39226624147 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The first step i Roger Bybee SE Model of learning

1 Elaborate

2. Explore

Evaluate

LS ]

4 Engage
5°KE [D ErroBodS SE ST LS SaiaraS” I Frso

1. Db xdoSED
3 Pﬂf:;s?mi:?d?o
3. E}@J;SE%:;&D
4. m‘b@o 525850
Options :
1. % 1
2. % 2
3.% 3

4.9 4



Question Number : 108 Question Id : 39226624148 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Objectives of Psychomotor Domain are developed by

1. Bloom
2. Krathwohl
3. Simpson and Dawey
4. Kelly
IRV BT EYE HoKoS' oFTom ErFododT T8
1 227700
Lo
2. |S’S>S
3. 0D)® DB &S
4. =9
o)
Options :
1% 1
2.% 2
3.¥3

4, % 4



Question Number : 109 Question Id : 39226624149 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

This specification is not related to the objective *‘Skall’

1. Measures accurately

2. Draws the figures neatly

LS ]

Draws the diagrams and graphs according to scale

4. Suggest new methods.

E@ﬁé&’ e:géf‘fji BOEN ‘5’:0}%;15653

1. PBOT SFHI0 BRPE

2. Byr A een Higfor A

3. DOGON |DITPETPO GRETA0L) ESQQJJ&E}J,
oo AR

4. oSS HFS0m BordT.

Options :
1. % 1
2.% 2
3.% 3
4. 4



Question Number : 110 Question Id : 39226624150 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify problem solving methods to solve mathematical
problems

a. Method of Restatement

b. Method of Analogies

C. Method of Graphics

d. Method of Evaluation

Kedes 0aidge HOTYE0S” &HEB0T DR HOT)Y DEeben
o0w0k.

a. ) ISHRSIVIREN LS ;ﬁg}i@

b. %"c‘.‘:?uj-a“;e: ‘ég"@

c. DAY 258

d. ;fb:n@'ﬂgf:}ﬁ&ﬁ DB
&
1. a.¢d
2. b.c.d
21 a.b. c
4. a.b.d
Options :
1. % 1
2. % 2
3.¢3

4. % 4



Question Number : 111 Question Id : 39226624151 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Use of Geo board in teaching Mathematics 1s
1. To explain addition and subtraction

4 To explain geometrical concepts

T2l

To explain multiplication

4. To explain division

R3S SESS” BBrd'd) D Nz

L Qoo HHddiw 55355@55;333&:553 2)o380TE
2. egodah prSSes D300

3. ASTacialeIROUINV IR INTo Tornt T

4. 2Pt EE0M0 D300

Options :
1. %1
2.9 2
3.% 3
4. % 4



Question Number : 112 Question Id : 39226624152 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Characteristic of giving consistent. authentic results of test

paper is
1. Reliability
2. Validity

3. Objectivity
4. Practicability
?I\:} e
& =
i 5&@3@2)@3;9;5
pi Y ‘:‘é@’:;&:ﬂm@
ﬁ s tc' #
3. oF 5@&;@
4. e338es0es éﬁe‘.é
Options :
1.v 1
2. % )
3. % 3
4. % 4
Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

ES TSRS OG0 93 (PTHE0 ©5E0

Section 7

392266792
7

Online
Mandatory
24

24

12

0

1
392266925
Yes



Question Number : 113 Question Id : 39226624153 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

In human beings fertilization occurs in

1. Fallopian tube

Z. Uterus
3, Vas deferens
4 Ovary

SrSHIE” HoLEYR0 g¥) & BRE00
i FS"HAHS o

5.3 Hmejé’:ﬁﬁm

4 HEeE

4. @%EEE%’O

Options :
1.v 1
2. % 2
3. % 3
4. % 4



Question Number : 114 Question Id : 39226624154 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Red data book” is about these organisms
1. May extinct in the nearest future

2. Already extinct

Restricted to particular area

4. Found all over the World

BE Tt 208 - B2 AHeH 502000958

(d

L 0% $dRES” ©0880Bd

2. 39)8% ©0Ed0IS

3. 2 ([Poamdd S| HOWEI0SY
4. @}ﬁoﬁmﬂom é@gj

Options :
1.¥1
2.% 2
3.% 3
4. % 4



Question Number : 115 Question Id : 39226624155 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The digestive juice that cannot digest the food directly.
1. Saliva
2. Bile Juice

3. Pancreatic Juice

4, Intestinal Juice
PotTan SEe) 280 DoHsa AuLHo
3 s |

O

LY

2. _"o:e:égfﬁ‘ﬁ
3. E5:54%0
o

4. &ﬂo@d‘@o

Options :
1. %1
2.9 2
3.% 3
4. % 4



Question Number : 116 Question Id : 39226624156 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the incorrect statement about heart

I The right auricle contains deoxygenated blood.

2. The left ventricle contains oxygenated blood.

(S

The heart 1s covered with pleura

4. The left ventricle pumps blood to all parts of the body
except lungs

THEATIS $02000D S 574 HJowok.

L. 6 K05 eiumd Sard ST SOA sodwod.

2. Qe 380 emd Jrd ST SOA &0énod.
3.  I)E650 IpoSE” Kb &0enod

4. A& =YY &s00BEe SB) WADS o) ¥08

PO STR) D0Y D08

Options :
1. %1
2. %2
3.¢¥3
4. % 4



Question Number : 117 Question Id : 39226624157 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the correct match

L Cholera - Virus

2. Malaria - Protozoa

Hepatitis - Bacteria

Thd

o

Citrus Canker - Fungi
VBN =B KJowosk.

1. oo - étﬁ

2. 580k - (PSS
3. B8R - ardddie
4. DS z0%8 - 3dogo

Options :
1. % 1
2.9 2
3.% 3
4. % 4



Question Number : 118 Question Id : 39226624158 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT a result of using organic manure.

L. Improves the texture of soil

2, Makes the soil porous

Decreases the number of friendly microbes

T4l

4. Enhances water holding capacity

30 DOBH DY SHBrROSEO I KOR HIS0 .
1; S0 e5)8I JIDEBEO

2. S0l Kyt DEEo

3. @ﬁo;@pcgg mngéé@@ BoPgo SAOBEO

4. 8 Jeos TH T DosEo

Options :
1. %1
2. %2
3.¢¥3
4. % 4



Question Number : 119 Question Id : 39226624159 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The chemical substance used in ‘Black reaction’ is
i Potassium Iodide

2, Copper Sulphate

3. Silver Nitrate

4, Sodium Hydroxide

208 OSirES'S” &DE@rA0D B ahS BoryYo

1. PerRcho eBrGE
2 %6 aéq]e*s'
3 9@@55 E@g
4. B&awo PIEFE)E
Options :
1. % 1
2. %)
3.¢3

4. % 4



Question Number : 120 Question Id : 39226624160 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the protein calorie malnutrition disease

1. Marasmus
2. Kwashiorkor
3. Obesity

4. Pellagra
FES Tod FITHUSH TO KHYoS0S.

= T &E

2, S‘:silcﬁrﬁb_g
3. “ﬁ:;e.: Totioe‘.iso
4. ';:Je.g@

Options :
1.v 1
2.% 2
3.% 3
4. % 4



Question Number : 121 Question Id : 39226624161 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify carnivores. herbivores and omnivores respectively
i, Man, Goat, Tiger
2; Tiger. Goat, Man

Goat. Tiger. Man

[N

4. Tiger. Man, Goat
SO0, EPRr0 0N &FATIHO SHKM
1580506,

Z; 9O, ¥, SS9
3. 05, 9O, $505:5E
4. 98, S585HE, Y

Options :

1. % 1

2.2

3.%3
4, % 4



Question Number : 122 Question Id : 39226624162 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Metals react with acids and produce

1. Oxygen

2, Hydrogen
3, Chlorine
4 Iodine

S°5%en &535;;&:93’5 ﬂc‘.‘;’§ 202, A SRk Do
1. &3.%‘3235

2. =S

3. £os

£ O@BTES

Options :
1. % 1
2.2
3.% 3
4. % 4



Question Number : 123 Question Id : 39226624163 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the correct statement/s from the following

Statement-A: Clinical thermometer 1s used to measure the
temperature of human body.

Statement-B: Clinical thermometer can also be used to
measure the temperature of hot milk

1 Both statements A and B are correct
2. A 1s correct and B 1s incorrect

3. A 1s mcorrect and B 1s correct

4, Both statements A and B are incorrect

308 AS” HPS TEg/ e 1HBOBOS.
FEGE0-Al 3ES S0yt SrusEs EPUSD
FeHeDH EHDEATLD.

FEg0-B 35S Jompaedio I8 To SRS

e e éﬁc?mﬂoﬁéﬁﬁol)

[ A S8c» B ;J'“Egéémm [slelrt ﬁé&ﬁ%
2. ASDSO 58650 B 8350 smeH
3. AUBI0 s 508050 B 9358
4, A S08c» B mﬁgaﬁmm [slelrty ﬁé&u’g} 5°a)
Options :
1. % 1
2.9 2
3.% 3

4.% 4



Question Number : 124 Question Id : 39226624164 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This will NOT increase the friction
L. Brake pads
2, Grooves
3, Soil
4. Graphite
38 Dofracid HOWD

i @35 3‘55@3

2 oe
3. NSTCS!
(%]
4. s
Options :
1. % 1
2. % 2
3.% 3

4.¥ 4



Question Number : 125 Question Id : 39226624165 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct answer based on the following Assertion (A)
and Reason (R).

Assertion (A): Nylon is used for making parachute ropes
Reason (R): Nylon thread is stronger than steel wire

1. Both A and R are correct and R is correct
explanation of A

2 Both A and R are correct and R 1s not a correct
explanation of A

A 1s incorrect and R 1s correct

fsd

4. Both A and R are incorrect
308 PIEI0(A). 780 (R) o esgrdon $88 ‘ﬁ&’rmm@
QoHE%a.

(BIB50 (A): JoreH FoisrsS o°F) Sc5rdS” FEth.

=530 (R): Fors om0 inge:: 8K %08 weFose.

L A0ciw R eo 8983, 0din R &0 A 0 93
HNTetar

2. A 08c5» R en 35359, $0c5» R 38 A % 500
D3TE? S

3. ABBSO SH 50350 R 5358
4. A 30c5» R Bosr 535 59

Options :
1.v 1
2.% 2
3.% 3
4. % 4



Question Number : 126 Question Id : 39226624166 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

While producing lightning these movements are observed.

A, Positive charge at upper edges of clouds

B. Positive charge at lower edges of clouds

. Negative charge at upper edges of clouds

D.  Negative charge at lower edge of clouds

SoBRYe0 VYD mcse:g)ofss K3 ¥5%en KHhoderdaron.

A TR DS @othe ;ch STTRR0
B. Sodre 85 ewodhe 58 Sa3¢0
£ BoRre 03 @othe ;Sﬁg LAVET DTO
D. 2odre OIS @odhe ;:Scé:i 2AET DHO
1. A B
%4 ol b
3 A D
4. B-E

Options :

1. % 1

2. % )

3.¥3

4.% 4



Question Number : 127 Question Id : 39226624167 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

This tourism place 1s known as ‘Andhra Kashmir’

L Horsley Hills

2. Lambasingi

fad

Vishakhapatnam

4. Kinthali

‘so|$ =8 &5’# DE0BS BTG (Froso
L 5359 6

2. S02DON

o 3‘%‘&}?&%@0

4. 2063€)

Options :
1. % 1
2.92
3. % 3
4. % 4



Question Number : 128 Question Id : 39226624168 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The number of seconds 1n a day is

2.¥ S%2S° Ko Do ‘55033:15

1 3600
2 43200
2. 86400
4. 8640
Options :
1. % 1
2. % )
3.4 3
4, % 4
Sub-Section Number : 2
Sub-Section Id : 392266926

Question Shuffling Allowed : Yes



Question Number : 129 Question Id : 39226624169 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Science is heap of knowledge which tells us how we would
be.” is defined by

2 Einstein
2.3 A.W. Green
3. Carl Pearson

4, Robert Arthur
“ePFE(RO WSO Jo° Lo’ ?os't:b 25078, e9d)
= =

ﬁq’sﬁoﬁmaﬂt‘b.
1. ;:::'Ea_gzaag
. By C:’E‘:'E}:S [ﬁg
3. =8 26588
4. G‘E:}g &sgg
Options :
1.¥1
2.% 2
3.% 3

4.% 4



Question Number : 130 Question Id : 39226624170 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Students establish generalization on the concepts of the lesson
n this stage

i, Conducting activities
2. Mind mapping
3. Conclusion - evaluation

4, Demonstration - discussion
dorgEen FE0STD DS er5Se K00D FE3EEs0
éacamasﬁm B 5FS° mtorenod.

5 L‘J@ﬁg@ KJt‘iﬂS?ﬁ“m

2. D0& S:gok
3. 20RO - 553?@505‘550
4. Q:::aﬁq’;ﬁ - £$6J

Options :

1% 1

2. %2

3.¥3

4, % 4



Question Number : 131 Question Id : 39226624171 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT 1 the guiding principles of textbook development

1.

LS ]

4.

To bridge between prior and present knowledge
To take up systemic reforms
To develop process skills

To provide opportunity for extended learning

TEFYRT D0 EFHES megesagméﬁ 88

1.

oW

Options :
1. % 1
2.92
3. % 3
4. % 4

YrEETRE (PS LIIS TEOM &omd

SEITDHT0S Do) Seaew DHGeor &owd.
s3] o s

(B3 Sesmgen 2oFodoBer &omd.

€9:502008 DTV e9:557H0 Soned).



Question Number : 132 Question Id : 39226624172 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student draws straight lines without using of scale.
According to Dave, it is

1. Imuitation
2 Precision
3. Naturalisation

4, Manipulation

=y

2.¥ 5}5&5% 'ﬁzh_mﬁa ERDBTROUE0ED S Resexn
AcoRdme. &3 ($5°80 38

1. EPNSltelar
2. "m?&%e‘ée‘%a
3. ifzsaﬁ&)ﬁfﬁmo

4, IR BT 0O

Options :
1. %1
2. % 2
3.% 3
4.9 4



Question Number : 133 Question Id : 39226624173 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the incorrect sentence about Assignment method.
1. Suitable to complete in a week.
2. Each student shall search solution for a problem.

Contains preparatory part, laboratory part.

(b

4. Instruction cards will be provided.
AEraS HEBS K020R0Y VO TFER) Q0N
1. 58508° e S denm &oenod.
2 (DB 3):‘:5“52 2.5 ﬁmﬁgﬁ: ﬁﬂi{“&rﬁo 28578,
3 ‘{aaa::ﬁa}'ﬂr{o, (DR RO HOLT o,
4. BoPeIS S“E‘%%E}J @oSBchaEaran.
Options :
1% 1
2.¥2
3.% 3

4. % 4



Question Number : 134 Question Id : 39226624174 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Priority must be given to objects and diagram in teaching
learning process,” is stated by

1. Erickson

2, Gardener

3 Froebel. Pestalozzi
4. Montessori

"oy HEIS° 5PoW, VG OH (FEHBEAD,” e
SV leTA NIV leb

1. 85N
. oS8
Lo
3. @“ﬂg. 3:@1;&:2@
4. ;ﬁro&i‘ﬁda

Options :
1. % 1
2. %2
3.¢¥3
4. % 4



Question Number : 135 Question Id : 39226624175 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct answer about ‘reliability” character of a
good test.

A, If number of question increases reliability also
imncreases.
B. Reliability of objective questions is less than that of

essay questions
1. A 1s correct
2. B is correct

A. B both are correct

fad

4. A. B both are not correct
S5 H0K XTI DKHICHES’ 00D ¥BF DITEF0
K500w506.

A (DY vops DOAB IRV DLE08

B.  S50urd (33 508 oFgH )l (Yo JHHIES

O
L ARDSO
2 B 3058
%, A. BTo& DI

4. A. BOo&r G000 S5

o
Options :

1.v 1

2.% 2

3.% 3

4. % 4



Question Number : 136 Question Id : 39226624176 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the item which is NOT present in unit structure of a

Science textbook

L Face sheet
2. Do you know
3. Learning indicators

4, Analyzing filling tables
ZITR FUFDREOS” chardES Jomyes (K:0S” B woa)

ooowok.
1. (503 dI¥0
2. D Beodr

3. 920 WD Een

4. 35131{365&0 - D¥en JoDEO

Options :
1. % 1
2. %2
3.3
4. % 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Section 8

392266793
8

Online
Mandatory
24

24

12

0

1
392266927
Yes



Question Number : 137 Question Id : 39226624177 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This continent is known as ‘Birds Continent’
1. South America
2. North America

Australia

(VS ]

4. Antarctica

D POLO'TT DewHwt POLO

1. 3536 e85
%
2. éiw;ﬁ 003
3. RO
4. &90&?62}_&3?
Options :
1.1
2. % 2
3.% 3

4.% 4



Question Number : 138 Question Id : 39226624178 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Every year we celebrate 22™ April as
1. World Water Day
2. World Earth Day
World Ozone Day
4. World Peace Day
(B8 H0SSYBO APS 225 050 T BEHYLOLLO

(b

L (9%0S mo 85 @S0

2. (®%03 HB@ BSE)N0
3. ($%035 L8'S BSPS0
4.  (PD0S 0d BIBYS0

Options :
1. % 1
2.92
3.% 3
4. % 4



Question Number : 139 Question Id : 39226624179 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Indian Mainland is located between these latitudes
1. 824" South — 37°6’ South

2. 6°4' North — 37°6" North

3. 8°4' North — 37°6' North

4, 8°4' North — 37°6' South

WPOS (PO°S FTLPN0 B3 ©FT0T0 00§ Solh

1. 8°4' &30 — 37°6 &33ea0

2. 6°4 &80 — 37°6 &eso

fad

8°4' &sg550 — 37°6' &B0
4. 8°4 &8¥0 —37°6' 5360

Options :
1. %1
2. %2
3.¢¥3
4. % 4



Question Number : 140 Question Id : 39226624180 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is an Archeological Source for the
Historical study

L. Epics

2. Account by foreign travellers
3. Folk Art

4. Inscriptions

83 308 IS’ .58 S/ STIETII PO B0

1. 3BT en
2. BB @0 ¥EIren
3. 2ol ¥den
4. FEOTTLD
Options :
1. % 1
2.% 2
3.% 3

4.9 4



Question Number : 141 Question Id : 39226624181 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The number of wars held between the British and the rulers of
Mysore was

DERT0E, P> FOHOWH DS BOAT SN HoPS

1. 2
2 3
3. 4
4. 5
Options :
1. % 1
2.% 2
3.¥3

4, % 4



Question Number : 142 Question Id : 39226624182 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Acharya Nagarjuna. the Buddhist scholar. lived during the
period of

1. Chalukya

2. Pallavas

3. Satavahanas

4. Ikshvakus

(B50p TG DOBEE STV TIMERTE 58 sreods’
Dadm OTT0.

1. m%ﬁ:gm
2. ?.’a%:jaé}eu
3. T T I a0 e
e 1
4, EEREERY
Options :
1. % 1
2.% 2
3.¢3

4, % 4



Question Number : 143 Question Id : 39226624183 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Bihar Zamindar who joined the rebel sepoys and fought
against the British in 1857 was

1. Kunwar Singh
2. Tantia Tope
Nana Saheb

4. Bakht Khan
18576° Btheren Bk draves® 502 Q8 T08°
Dords HHEK Tods =Dromdh

LS ]

i B ﬁ::gsg 20R
TORSITS

2
3. T D
4

S5e
Options :
1.¥1
2. % 2
3.% 3

4. % 4



Question Number : 144 Question Id : 39226624184 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Reform organisations of the Sikhs, the first Singh Sabhas were
formed 1 1873 at

1 Bombay
2. Aligarh
3. Madras
4, Amritsar

2K HORY s DOZBS IS JOR Hafen 18738 gy &
DGz ow.

1. 23 0ZT°0)
2. =sdRE
3. 0\ T°R0
4. e;ﬁ;ﬁmg
Options :
1. % 1
2.% )
3.% 3

4.9 4



Question Number : 145 Question Id : 39226624185 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to this Article, there shall be Council of Ministers
with the Chief Minister as the head to aid and advice the
Governor in the exercise of his functions

1. Article 163 (1)

2. Article 171 (3)

3. Article 169 (1)

4. Article 166 (1)

B3 ©Q88e (P50 KIS &5 o JKBosEos”
RDDPEDLREEDS 083w Dess q&iﬂsm?&% 00§00\ B
S AEE[0S D 0@ H0ED &0tod

L 58 163 (1)

2 @Q%¥8m 171 (3)

3. Q%8 169 (1)

4 Q8 166 (1)

Options :
1.v 1
2. %2
3.% 3
4. % 4



Question Number : 146 Question Id : 39226624186 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Choose the correct matching pair related to tribes

I: Kenya - Gaucho

= Kazakhstan - Yurta

3. Tibet - Massati

4, South America - Qiang

AO=S BROK H00R00 JOT BSEJLSES TPIJ Ko8oBodk

i 3 - RoS°
2 £23JS - S0
3 3B - mé"“]c:m
4 ﬂﬂéﬁ 3005 - 2aion
Options :
1. % 1
2.4
3. %3

4.% 4



Question Number : 147 Question Id : 39226624187 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the followings

Name of the organisation Place

L. The Brahma Sabha A.  Bombay
I1. The Prarthana Samaj B. Madras
[MI. The Veda Samaj ¢ Calcutta

200 T =eSREU06G

HOY DL (®B¥o
==}
L. @B’J‘D&?&zﬁ A £3°02I°00)
I (8 dsorz0 B. o
&
M. 3I& dvSr=o C. Ho¥o

L. 1-€. H-B HI-A
2 1-B, HOH-C HI-A
3. I=€. HN=A HNI-B
4. I=8, II=A M1 -C

Options :
1. % 1
2. %2
3.¢¥3
4. % 4



Question Number : 148 Question Id : 39226624188 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT a risk reduction measure to avoid industrial
disasters

1. Industrial areas should be far away from the densely
populated residential areas.

2. Management of storage capacity of toxic substances
should be under control of factory.

(s

People staving in the vicinity of industries should be

aware of the storage of toxins.

4. Pollution dispersion qualities i the industries should
be improved

FBF WY D eBS HEW0GE BF EeDS (B

QT BeT 555 =p

=5 rolJ efEon &) AT (rogred drdone
TO| T |Frogren &osd.
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KD) HBFOH VDS AFBOT e BOTD.

4. DPEHOS senly AchHolges SBiRN BoEIHBSTD.

Options :
1. % 1
2.2
3.% 3
4. % 4



Question Number : 149 Question Id : 39226624189 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The indicator of the value of goods and services produced in
the country 1s

- & et - . st L it g
2.5 B¥oS° éebo)@ VPBEO) FHe SH0G50 VIO Jews BoedE

L. HDI
2. GDP
3. GNI
4. NNP

Options :

1. % 1

2.2

3.% 3

4, % 4



Question Number : 150 Question Id : 39226624190 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding Olympe de Gouges

a. Women who played an active role in the politics of
French Revolution.

b. She wrote declaration of rights of woman and citizen
1. a - correct

2. b - correct

3 a, b - incorrect

4. a. b - correct

2,009 & Rzl 100D KBTS VIS0 HYoBos.
a2 (TS APTE E Tudared” HWES PG FROVS HIY

b. & (Q PETHpo (BELID V0D

=
2 b - 358568
L.
3. a. b - %05
4. a.b - 5058
e
Options :
1. % 1
2.% 2
3.% 3

4.9 4



Question Number : 151 Question Id : 39226624191 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Olga Tellis Vs Bombay Municipal Corporation judgment is
related to

1. Right to education
2. Right to employment
3 Right to livelihood as part of right to live

4. Right to rehabilitation
2.er 8BS VseroB 50odb0S 58 0as 85y 82 Todsh.

1. 35"5 ?.'3'05‘::3.)_

2. &l ),
3. ésﬁﬁa‘g@ Fosso #00T TK) S° g0
4. QIT IR0 FPOTIE),

Options :

1. % 1

2. % 2

3.¢3

4.% 4



Question Number : 152 Question Id : 39226624192 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Similipal Bio Reserve in located in
i Uttar Pradesh

2. Odisha

Bihar

4, Arunachal Pradesh

2Y>E mﬂ?@ﬁ% & &N

LS ]

L. &s5RoE
2. &&é‘b
3. 56
4, oerSS(DBE
Options :
1. %1
2.9 )
3.% 3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 392266928

Question Shuffling Allowed : Yes



Question Number : 153 Question Id : 39226624193 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Parliament of India passed the Official Language Bill in
the year

PESTIY FE0E, ©QTY erar Degid &BFR0DT

(UeREcle
1. 1963
2. 1953
3. 1973
4. 1983

Options :

1.¥ 1

2.% 2

3.% 3

4.% 4



Question Number : 154 Question Id : 39226624194 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“A project 1s a piece of real life that has been brought into the
school” stated by

Ballard
J.A. Stevenson

. oo

LS ]

Bining & Bining
4, Kil Patrick
"FETO TESEE08 VS BRSNS 298 wo¥dh (B o
?:a?g“]::i ileb
1.  Berd
e
2. B IS
3. BIoX wo& BIoK
4. 35 >|BF

Options :
1.v1
2. %2
3.% 3
4. % 4



Question Number : 155 Question Id : 39226624195 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
These aspects are emphasized in teaching
A.  Teacher
B. Subject
e. Teaching Strategy

5G5S (DETTOMN &OEHONT WOTe

A SEHS
B. &S&zro¥o
¢ 23555“;@?5;:?0
¢ A.B
2, B, C
3. AL
4. A B €
Options :
1. % 1
2. %2
3. %3

4.¥ 4



Question Number : 156 Question Id : 39226624196 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Project work is a part of

1. Formative Assessment

2. Summative Assessment

3. Slip Test

4, Oral Test

FBLSD 30808° Ko

[ ] ijéme:é 35 ;b’me.rbéoﬁ o0

z ‘pﬁo@‘éﬁme‘_& &E ;ﬂm@éoﬁsﬁc

3. D8
2 &3
4. SPx N0y
Options :
1.v' 1
2.% 2
3.%3

4. % 4



Question Number : 157 Question Id : 39226624197 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Social, Sociological Sciences can be taught as special sciences
in higher classes — stated by

i Ramamurthy Committee
2. Kothari Committee

3. Radhakrishna Commission
4, Tara Chand Committee

&S BBHEDHOS” Fowy, FiraseTe PS5 eFeor
S QOSH) o) IV

1L omsoed EQoed

2. Sob 5508

3. OHR EDIS

4. ooE08 58

Options :
1. %1
2.9 2
3.%3
4. % 4



Question Number : 158 Question Id : 39226624198 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The map that indicates the rainfall. temperature. atmospheric
pressure of a region in one seasoi 1s

Is Weather Map
2. Biological Map
Climatic Map

(S

4. Distribution Map

e wf vy - o i - o
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4. IS HeE®
Options :
1. % 1
2.% 2
3.¥3

4, % 4



Question Number : 159 Question Id : 39226624199 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

It studies the relationship between Nature - Human - Society

1. Geography

2 History
3 Political Science
1. Economics

L‘{:E‘D@ - o)) - TR0 ;3::6;55?\1@ Roogres 3B
-&Jc‘;ﬁéo‘;’i:;b”o S008

1 AL
2 15&@6
3. oradFT(RO
4 eg?@a
Options :
1.¥ 1
2.% )
3.% 3

4. % 4



Question Number : 160 Question Id : 39226624200 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Choose correct matching regarding assignments

a. Study assignment -

b. Revisional assignments

c. Remedial assignments

d. Preparatory assignments

S RR0EOK H0ROY HVS

8. EEE'CS'SCSSJES DI Te0

b. @ﬁ&ﬁéﬂ:tﬁgﬁ“ DT BT 0

e ":6555[‘?935&5 BT TTeD

d. ﬁag?.’.'?’ﬁ QDTN -

1. a.b.c
2. b.c.d
3 a.c.d
4, a.b.c.d

Options :

1. % ]

2. % 2

3.% 3

4.9 4

Based on students’ learning levels

To know students’
understanding levels

Inculcate self confidence
among students

Foundations for further learning
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